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— . (50%) Single choice or multiple choices

(5% for each question )
1. Of the following, the one which is a reason why one might use a

sign test to make a comparison between two populations is

a.
b.
c.
d.

some studies yield responses which are difficult to quantify.
it is easy to use the sign test procedure.

the data in question consist of count data.

no assumptions need to be made about the form of the

population distribution.

2. The chi-square goodness-of-fit test

a.
b.
c.
d.

is a lower tail test

is an upper tail test

is a two-tail test

all of the above are correct

3. The multiple coefficient of determination, R-square, is

a.

b.
c.
d.

the ratio of the unexplained sum of squares to the total sum
of squares

the ratio of SSR to Total SS

not of much use in appraising a regression relationship

can range from 0 to 1

4. In a simple linear regression model, a confidence interval for E(y)

estimates

S

d.

the mean of y for a given x value
the mean of y

the value of y for a given x value
the value of y for all x values

S. In analysis of variance, the null hypothesis is

a.
b.
c.
d.

most of the means are equal
none of the means are equal

all of the means are equal
all of the variances are equal

A OH AR
Q@& R




> R
P EXIb R 100 L5 ERALTHELRIANET 4 FH Lo ( 4_

Rt BIRO¥EEL2A LKL
BEIER /003 A 198 % 2% 11:00-12 : 30

#18 ¢ %t E

6. Of the following, choose the correct statements
a. the F distribution is a symmetric distribution
b. the t distribution is symmetrical
c. the shape of the chi-square distribution varies with the
sample size
d. the test for equality of two population variances assumes
the means are equal
7. To locate the rejection region
a. the level of type I error must be specified
b. the level of type II error must be specified
~¢. both of type I and II error must be specified
d. neither type I error or type II error need be specified
8. If a researcher is using a 95% level of confidence in calculating a
confidence interval
a. 95% of the time the computed interval will include the
sample mean
b. 5% of the time such intervals will not include the
population value
¢. in the long run, 95% of all sample means will fall within the
interval
d. 95% of the time the interval will not include the population
value
9. As the sample size n increases, and the other situations are fixed,
the width of the confidence interval for the population mean tends
to
a. increase
b. decrease
c. stay the same

10.Suppose that A and B are independent events, with P(A)=0.2 and
P(B) = 0.7, what is the probability that neither A or B occur?
a. 0.14 b.0.24 ¢.0.90 d. none of the above
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BER | B4 | THEEESHEG) | Amg SEIEHEZ(s)
A 40 $2100 $200
| B 40 $2056 $160
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Analysis of Variance
Source DF Sum of Mean F Value P Value
Square Square
Regression 2 40 40
Error 30 150 3

Total
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